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Internal Assessment Test II — Sep. 2021

Sub: Elements of Civil Engineering and Machanics Sub Code: | 18CVI4 | Branch: I Civil Engg
Date: | 06.00.2021 | Duration: | 90 min's | MaxMarks: |50 | Sem/ Sec: 2= sam /O section OEE
Answer any FIVE FULL Crestions MARES |COD |EET
1 {a) Define centroid and center of gravity, hst their differences? [03] Cco4| L1
{(b) Denve an expression to locate the centroid of Tnangular lamma. [07 |Co4| L2
2 (a) Locate the centroid of the given I-section with respect to the base of flange of 25  [10] [Co+| L3
mm width.
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3 (a) Determine the support reactions of the beam as shown in below figure (1] |CO3| L3
(023 |CO3| L3

4 (a) Determine the support reactions of the beam as shown in below figure.

JokwN
12 %0 fon

16 Kn-mh

i ~ s I,

o ;W%
R —)
m Im ra m

n 3

-]
=
(V8]

5) (a) Find the forces in all the members of the truss shown in figure by using method of  [10] |CO3
joint. Indicate the forces on the truss with their nature.
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6) (a) A truss 1s loaded as shown in the figure. Find the axial forces in the members CD.
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